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Cll()~7"-" the correct answer:

) Ecologists study the flow of Energy in difficult Ecosystems such

as -
5. north pole b. bottom of oceans
d.a&b

c. forests
is (are) example (s) of biofuel.

(2
4. Petroleum b. Coal
d. Natural gas

c. Corn
3) Curiosity is the most famous on mars.
a. Application b. Spacecraft

¢. Robot d. Rocket

o Car seat-belt used to keep the body of driver from moving

b. downward

a. upward
d. forward

¢. backward
e Write the scientific term:

gas region at the edge of the sun that emits light and heat.

@ Itisa
( )
@ Theinput energy in calculator. ( )
© Energy is neither created nor destroyed but it can be changed.
( )
( )

O Aheavy steel ball swingingon a cable.
e Complete the following:

@ Spacecraft needs more than months to reach mars

@ Electric iron changes ~_energy to energy

© Solarcars are in weight.
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@ Batteries store energy and used 1 e

Model Exam

K

e Correct the underline words:

@ Charcoal is made up of grass, corn of wood chips.
(

. . ,
@ Electric vehicles cause climate changes.

© Anyenergy chain ends with the sun.

@ Theinputenergy in the solar cell is electric energy.
(

(

e Mention the input and output energies of the 1o

@ What meant by:

- Renewable source of energy

e Give reason for:

- People use machines.

g What is the importance of:

— Green house:

l 84 Science Prim. 4 - Second Term
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Model Exam

Ry

Exam)

Y Model

Choose the correct answer:

@ Theamountof ... is limited on the earth.
a. biofuel h. fossil fuel
c.a&b d. no correct answers

@ Modern wind millis ... than old wind mill.
a. taller b. shorter
c. heavier d. no correct answer

@ Sound energy is produced from all the following devices except

..............................

a. Cellular phone h.TV
c. Radio d. electric iron

@ The correct arrangement for generating electricity by the wind
energy is . :
a. Sun — wind - electric lines — wind mills - houses
b. Sun - wind - wind mills - electric lines - houses
c. Sun — wind mills - electric lines - wind - houses
d. Sun - wind mills - wind - electric lines - houses

e Write the scientific term:

TR s

@ Aheavy steel ball swinging on a cable. (T )
@ Adevice used to light houses. (A )
@ Theinputenergy in hand bell. (S )
@ It burns inside car engine to make the car moves.

(e )
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€) complete the following:

@ Truck causes damage than the car.
@ Hair dryer changes energy to
and _energies.

© Solar cars don't cause

4 [ and . are non-renewable sources of eney

o Correct the underlme words:

@ Solar vehicles need gas stations. (. -
@ Coalis used to operate the gas oven. (. |
© Anyenergy chain ends with the sun. (— :
@ Kinetic energy is lost during collision. (o )

. =

e The following figure represents a solar heater:

——

@ Theinputenergyis ... .

@ Theoutputenergyis. ... .
© Itisplacedonthe ... :

o What'’s happen when: -

B e

— You look directly to the sun for a long time.

P L reseeasseseeesttetean e ITITIIEeeeyIetessaessTertleeesItt et teatatL sttt etTIso ltRttetante e s terrnerean S

What is the importance of:

T

(1) Seatbelt

@ Dams

ssessssssmessssssaccstatsssssaste R manenerasnnETTTE

1&5 Science Prim. 4 - Second Term

v )
www.Cryp2Day.com
s\l 8;0\s <\, i gBgo



@ Choose the correct answer:

@ The most effective turbine In generating electricity Is

a. 13& b, %

/l\ d

Model Exam

@ All the following are renewable sources of energy except

..............................

a.corn b. wood
c. petroleum d. grass
© Heatenergyis ... in solar heater.
a. consumed b. produced
c. lost d. destroyed
@ Whena ... hits a person, he may be injured only and
survive.
a. train b. truck
c.car d. bike

e V\{ﬁte the scientific term:

@ To getit, it requires removal of forest and cutting tree.

@ Very tiny organisms, smaller than the head of a pin.

- www.Cryp2Day.com
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o

Device used to transfer images and sounds.
The input energy of the calculator.

9 Complete the following:

(4

Air bag is made of thin materal folcec m: o,
steering wheel.
and are OB
fossil fuel.
When a player hits the ball with a bat the speet oF Te oy
in the direction.
Batteries store energy and useC 10 DT

o Correct the underl_ine words:

o
12
O
4

The surface of the sun is solid.
Whenfuely_u_m_sinsideacar.mecarstop&
Solar vehicle needs to be charged.

Electricity transfer to cities through thin wires.

9 Complete the following table:
I —

bevie  InpuEnergy  Oupstesersy

88 Science Prim 4 - Second Term
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what meant by:
@ W
_ photosphere

Give reason for:
@ Siverexer

_ petroleum Is a non-renewable source of enerqy,

0 What is the importance of:

@ Airbag:

@ Fossil fuel:

...................................
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o Choose the correct answer:

€ The surface of the sun is called
a. sun sphere b. gaseous sphere

c. photosphere d. jonosphere
(2) contains chemical encrgy.
a. Solar heater b. Batteries
¢. Radio d. TV
© Ethanol is produced from
a. grass b. corn
¢. coal d.a&b

@ Heat and light energies transfer from space to us in a form of

b. waves
d. circles

a. curved lines
¢. zigzag lines

Write the scientific term:

(

€ It consists of large number of small solar cells.

@ Theinputenergy of the calculator.
© A heavy steel ball swinging on a cable.
© Itisthe energy produced from burning fossil fuel. (

(
(

9 Complete the following:
@ Sun consists of different gases such as an

(2] . produced from the decomposition of algae.
© Solar vehicles don't need or
@ Solar energy causes air and wind

l 90 Science Prim. 4 - Second Term
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Model Exam
correct the underlined words:
o
o e!! devices depend on renewable sources of energy.
(. . )
) The chemical structure of water and petroleum is the same.
- )
Charcoal is produced from the decomposition of tree remains.
@ e
1) After collision, the air bag inflates fast. ()

Figure (1) Figure (2)

0 What will happen when:

— When the ball of newton cradle is raised up

...................................................................................................................................................

.........................................................................................................................................................

e What is the importance off:

@ Curved mirrors in solar oven.

------------------------------------------------------------------------------------------------------------------------------------------------------

......................................................................................................................................................

......................................................................................................................................................
....................................................................................................................................................
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as\bl) 50\ <y Sio 2990

Science Prim. 4 - Second Term 91}
Y



Model Exam

o Choose the correct answal

@ Coalis the source of energy in
b fire place

c. petroleum oven d. solar heater
at the top of slopes,

a.gas oven

€ Water of rivers stores great
a. Kinetic energy
c. Electric energy

b. Potential energy
d. Light energy

© Slow objects cause
a. great damage that can't be repaired

b. great damage that can be repaired
¢. small damage that can be repaired
d. small damage that can't be repaired
. Million

@ The distance between earth and mars is ..

kilometers.
a.54 b. 55
c. 44 d. 45

e Write the scientific term:
@ Itis the moment of crashing of two objects together.

@ Itis the energy that will not run out faster than consuming it.

© Energy neither created nor destroyed.
@ Itis made up of grass, corn or wood chips.

‘92 Science Prim 4 - Second Term
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Model Cram
complete the following:
@ <
1) Cars stop, when the fuel
L and are examples of
blofuel.
3 During collision, The alrbag ...
0 The input energy in running is . energy
Correct the underline words:
O ==
@ heavy objects always cause damage less than light objects.
2] Burning of biofuel cause air pollution & global warming.
— )
1) Increasing the number of blades is better. [ S )
[4) dynamo changes electric energy into kinetic energy.

a Choose from the below figures the most effective turbine

& the reason:

e R

Figure (1) Figure (2) Reason

...............................................

gclonce Prim. 4 - 8econd Term 93‘
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choose the correct answer:

0 All of these are examples of renewable source of energy except

b. wind energy

5, solar energy
d. water falls

N Coal
is (are) example (s) of biofuel.

0 5. Petroleum b. corn

c. coal d. Natural gas

__ produces heat and depends on non-renewable
0 source of energy.

a. Electric heater b. Solar heater

¢. Gasoven d. No correct answer
0 Robots and vehicles on mars operated by............ B

b. long-term batteries
d.b&c

a. electric charger
c. solar panels

g write the scientific term:

o It helps farmers planting crops that need hot weather in winter.
@ They study flow of Energy in difficult ecosystems. (.............)
© Itburns inside a car engine to make the car moves. (... S )
@ Itchanges the kinetic energy into electricenergy. (..............)

9 Complete the following:

@ When water of rivers falls from high slopes, potential energy

@ Solarcellschange.........cooec. energy to ... energy.

Science Prim. 4 - Second Term 95 !
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Model Exam
O cars are light in weight.
(4 , and are example,
fossil fuel.

o Correct the underiined words:

@ Electric vehicles cause climate change. ( )

@ The outcoming energy of battery Is chemical energy.
o (

( |
( )

© Fossil fuels are extracted from M-

@ Petroleum is an example for biofuel.

e Study the following figure then complete the following,

€@ The boy usesa | _to hit the ball.
@ The energy transfer from the
to the L
© The speed of the ball in ... .. in
. directions.

e Give reason for:

- —

- We feel warmth of the sun at night.

a What is the importance of:

(@) Motor

@ Solarenergy

Au Science Prim. 4 - Second Term
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the correct answer:

ChoOSO
o O
Produced from the decomposition of plants or trees,

(1)
a. Petroleum b. Natural gas
c. Coal d. Benzene
@ Asobject’s speed Increases, Its kinetic energy
a. Increases b. decreases
c. remalns constant d. no correct answer
@ Solar heaters are placedon ... .
a. streets. b. markets,
c. bathroom. d. top of building.
@ To make batteries work again, wemust ... ... .. .
a. charge them b. change them
c. burn them d.a&b

9 Write the scientific term:

@ Itisagasregion at the edge of the sun that emits light and heat.

@ The main source of fuel. ()

© Itabsorbs the energy of the car during collision. (... . )

@ Energy that consumed from solar heater. (e )
B f_"ﬂl_ﬂfte thf fqlllhowing:

® .o is used in fire place to produce heat energy.

Q@ is the energy produced due to friction.

Science Prim. 4 - Second Term WA
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Model Exam ‘l
© Solarcarsare .. ... . Inwelght. i
@ Fast rubber ball makes . ... sound whenithit by racyg, |

than slower ball.

Correct the underlined words:

@ The wind rotates the blades of watermills. R ——— )

- @ Coalis the oldest fuel that used all over the world.
(o )
© A crash investigator sees a car crash as a joke. R
@ When fuel runs out, the car moves. S—— )

9 What‘iﬁ the type of fuel:

Figure (1) Figure (2) Figure (2)

o What meant by:

PEETEETTT T ST

- Renewable source of energy

......................................................................................................................................................

......................................................................................................................................................

@) How to reduce burning fossil fuel:

! 08 Science Prim. 4 - Second Term
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Model Exam JX:

p—— e i e
i i

Choose the correct answer:
- depends on renewable source of energy,
o a Petroleum oven b. Gas oven
c. Solar cell d. Flash light
@ From the disadvantages of over use of fossil fuel Is (are)
a. cutting trees b. removal of forests
¢. air pollution d.a&b
© used to move things.
a. Dynamo b. Motor
c. Hair dryer d. electric heater
@ Thecarwithspeed ... has the highest kinetic energy
a. 100 km/h b. 80 km/h
¢. 60 km/h d. 40 km/h

Write the scientific term:

TR T 5T

@ The vehicle that doesn't need any fuel or electricity.

(o)
@ Itisthe energy produced from burning fossil fuel. (.. . ... .)
©® Theamount of it on the earth is limited. ()
® Theincoming energy in electric heater. ()

e Complete the following:

@ When two cars collide in the
will be less severe.

@ is the energy stored in food.

Sclence Prim. 4 - Becond TYerm 99
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Model Exam
© Coalisusedin ... to produce electricity.
@ Heavy objects have .................. energy.

o Correct the underline words:

@ The output energy in a calculator is the solar energy.

=
@ When a car hits a boy, he will survive. S )
©® wood isaanon-renewable source of energy. R— )
@ Burning fuel produces light energy. — )

9 Arrange the following energy chains from start to eng;

ww.Cryp2Day.cam
ac\bl 639\ <\y Sin

= During running:

HIG sy | =W
N NN e A W

Chemical energy Kinetic energy Solar energy

0 What meant by:

- Solar panels

........................................................................................................................................................

.........................................................................................................................................................

Give reason for:

- When you touch an electric lamp, you feel hot.

...............................................................................................................................

.........................................................................................................................................................

! 100 Science Prim. 4 - Second Term
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hooSe the correct answer:

0"

0 Modern windmills are ... . than old windmills,
a.taller h. shorter
¢. heavier d. no correct answer

@ Heat energy s ... — in electric Iron,
a. consumed b. resulted
c. lost d. destroyed

© o is the fuel made of living organisms that can be
planted.
a. Fossil fuel b. Biofuel
c. Petroleum d. Gasoline

[ J—— collision, the air bag deflates fast.
a.Before b. During
c. After d. no correct answer

Write the scientific term:

TR T T

@ Vehicles that have batteries must be charged. (oo )

@ Afamousgamein which the player hits the ball with a bat.
— )

© The amount of it on the earth is limited. (R )

@ It helps farmers planting crops that need hot weather in winter.
R )

e EiTE"?tE the following:
@ Itisbetter to . ... the number of blades Inside turbine.

Sclonce Prim. 4 - Second Term 101 !
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(2]
(3

@)

@

12
(3

©

— O — O

-------------
-------------
.............

...............
..............

A spacecraft needs more than Month to reach Mar,

You feel ............ . when you approach your hand t, th;

electric lamp.
The rate of formation of petroleum is

of its consumption.

We must light up electric bulb and electric devices if we don't
need it. ( ............................ )

Mention the advantages and disadvantages of solar vehiclg,

e

..................................................

..................................................

..................................................

..................................................

What is the importance of:

BT T .

- Wrecking ball

-
e
.....
------------------------------------------------------------------------------------------------------------------------------------------

...........
----------------------------------------------------------------------------------------------------------------------------------

! 102 Science Prim. 4 - Second Term
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e e e

Choose the correct answer:

B
0 Fast Objects CaUSe .. :

a. great damage that can be repaired
b. great damage that can't be repaired
c. small damage that can be repaired
d. small damage that can't be repaired
1) The surface of the sun ... :
a. is solid such as moon
h. is gas such as moon
c. isn't solid such as moon
d. isn't gas such as moon
(3) Which of the following statements is correct?
a. Energy can't be changed from one form to another.
b. Energy can be changed from one form to another.
c. Energy may be lost or destroyed.

d. Energy can be created.
(7 J— is the oldest fuel used all over the world.

c. Petroleum

d. Natural gas

Science Prim. 4 - Second Term 103 !
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Model Exam

9 Write the scientific term:
hat will not run out faster than consuming jy

@ Itis the energy t

( |
)
@ The energy produced due to friction. ( )
@ Itis used in cars to keep the driver's body from moving fory,,,,
during collision. ( ,
@ Energy that consumed from hand bell. ( \
e Complgtg the following:
® ..o . .isusedto knock down parts of a building,
@ Electricity transfers to cities through ... ..
© The wheels of the car ... ... when fuel burns inside ¢z
engine.
o ------------------------------ PR OREE———— and ... RPROPMR- .. are examples of
fossil fuel.
0 Correct tb__evupderline words:
Fuel powered-cars need to be charged. (.
)

@ Life continues on the earth in the absence of the sun.,

SE———

@ Charcoal is made up of grass, corn or wood chips.(...... )

@ Burning of biofuel cause air pollution & global warming.

gm Science Prim. 4 - Second Term
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e following table:

Source of Energy

...................................................

Model Exam

................................................

...................................................

...................................................

ey

0 Compare between.
Device Biofuel

Type ...................................................

| Fossil fuel

...................................................

|mponance ...................................................

Disadvantages ...................................................

...................................................

Bamples | oo

...................................................

www.Cryp2Day.com
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i e Write the scientific term:
g ‘ @ Photosphere
f @ Solar Energy
9 Law of Conservation of Energy
o Wrecking Ball
e Complete the following:
(1
©) -electric - heat © light
@ chemical - devices (toy cars)
o Correct the underlined words:

o Ethanol

€) Fuel-powered

© starts O output

e Mention the input and output
energies of the following:

) what is meant Iry:

- Renewable Source of Ener
It is the energy that will rlot
faster than us consuming jy by

e Give reason for:

- To make their life easjer and Qet i,
done faster.

€) what is the importance of,

~It helpé farmers grow plants thy
need warm weather in winter

| Model Exam

o Choose the correct answer:
(1 0 - (3 !
(4

e Write the scientific term:

€ Wrecking Ball

€) Electric Bulb

© Kinetic Energy :
O Fuel ad

9 Complete the fol!owlnﬁ_;

2

I

@ -electric - sound - heat -
© climate changes
O Petroleum - Natural ¢

Heat —
et eat - Sound
- kinetic
Electric Light - Heat
Chemical kinetic

€@ more y I

e Correct the undorlm NO! =

L

o itisy

from moving

collision.

) They can gene

) choose the corr
0 Oc
(4 I

9 Write the scien
@ Biofuel
® Diatom Alga
3 Y
e Solar Ener93

2 Complete the.
(1) Nylon

e Petl'ngum



stafts
: ransferred

é collowing figUre represents
i J

250
colar energy

top of the bUl‘dlng

what will happen when

Your eyes will be damaged.

what IS the importance of:

0 it is used to keep the driver's body

from moving forward during

collision.
o They can generate clean energy.

i

@ Choose the correct answer:

0c Oc¢ (3 B

@ Write the scientific term:
@ Biofuel
€) Diatom Algae
0

0O solar Energy

Q Complete the following:
0 nylon
2] Petroleum - benzene - coal
3) Increases - opposite
0 chemical energy

c
Orrect the underlined words:
Moon

- Because it starts to run out as soon
as we use it. Also, the rate of our
consumption exceeds the rate of its
formation.

What is the importance of:

€@ Airbag:

a. It slows the speed of the driver
when his body moves forvard

b It absorbs the energy of he




":;_ o d
(4 I

e Write the sclentific term:
o Solar Panels
o Solar Energy
9 Wrecking Bal|
o Heat Energy

9 Complete the following:
© hydrogen - helium
® petroleum
(3] electricity - fuel
@ movement - blowing

g Correct the underlined words:

o Some

e different

9 Coal

o deflates

& Which figure represents more |

severe damage ang why?
- Figure (2)

Because the two cars collide in 6

Opposite d irections,
) what wiy happen when:

it doesn't have any kinetic energy.

€9 What s the importance of:
O o direct the sunrays towargs the
cooking pans,

® Totransfe light and sound.

[

www.Cryp2Day.com -
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ﬂ Choose the ¢o

”\sJ
n,

€ Collision
@ RenewabIeSourCEQf -
(3] Lawol‘Cc::nsematiom,f&Itlh

o Ethanol

Complete the followina

o runs out

€ Con- grass - wood

9 inflates

Correct the underij

o more

€) fossil fuel
&3 Decreasing

Mmost effective turbine & clarf
the reason;
= Figure (2), because it is t#h
figure (1) & it has 3 blades osi;
What is meant by: o
= Energy is neither created nor

@ Animals that feed onp
© Life disappears on
Give reason for: : J
~Because the Sun is h
of energy, i
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o oW SE
' . o Fuel
Lo
=
following:
* ﬁ’ct tm ¢ aryer
) oS KNERC €T ay
‘ ol - glaCtnC
)=
Petroleum - natural gas — coal

‘ yct the underlined words:

- o g
H ' sya-powered
]

§ smgerground
. tossi fue!
) the foliowing figure, then
?‘“ the following:
b

§ - ba

- "ason for:
tf\e atmosphere envelope,

-! i '?.,,? R
n Choose the correct answer:
o C 0 A 0 o
o d
9 Write the scientific term:
o Photosphere
o The Sun
o Solar Energy

0 Complete the following:

€ Coal

o Heat energy

@ louder

0 Correct the underlined words:
o windmills € Wood
© puzzle O stops

9 What is the type of the fuel:
- Figure (1): Renewable source of

o r"'”‘"'!

© iof

energy.
- Figure (2): Non-renewable source of

energy.
~ Figure (3): Non-renewable source of

energy.

@ What Is meant by:
- Renewable Source of Energy:

It is the energy that will not run out

faster than us consuming it.

How to reduce burning fossi! f':‘:
€ Walking or driving a bike inS

of driving cars.
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5 Choose the correct answer:
(1 18 (2 IS (3 8
4 J9
a Write the scientific term:

o Solar Vehicle

o Heat Ene;gy

© Fossil Fuel

o Electric Energy
& ' Complete the following:

€@ same

e Chemical energy

© electric power stations

QO high

. Correct the underlined words:

@ bike
O heat

) Arrange the following energy
chains from the start to the end:

£} What is meant by:
- Solar panels
They consist of a large number of
small solar cells, They change solar
energy into electric or heat energies,
Give reason for:

~Apartof the electric €nergy changes
tok

www.Cryp2Day.com
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@ What is the |

R i i e |
© S L R R R
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Wode! Exanm

) choose the correct ang,,

(2 W

= o I .
Q!

7y
il

) Wwrite the scientific term, =
€@ Electric Vehicle '_@)-_:-.;

9 Cricket Game 3 &
9 Fossil Fuel Xlid
@ Greenhouse "-?a{;'

&) complete the following; ¥

€ decrease 0
© hot (4] h;ss
()] Correct the underlined words;
€ dynamo k2] sdé:
€ biofuel 0 tumof
£¢) Mention the advantages and
disadvantages of solar vehicles
@ Theydontneedfuel. -4_" ?
@ They don't need electricity. _'."]' '-
© They don't cause climate ch
O Theyare light in weight.

- Advantages

Disadvantage

—

The amount of energy it gets fro

gasoline or electricity.

. =

~ltis used by ccmst



e scientific term:
4 Renewabie source of Energy
Heat Energy

seatbelt
o Kinetic Energy

complete the following:

0 wrecking ball
@ huge wires

@ rotates
0 petroleum — natural gas - coal

{ Correct the underlined words:

@ Electric cars

@) disappears
© Ethanol

0 fossil fuel
a Complete the following table:

,o Compare between:
C. shiid

type \ Renewable | Non-renewable |
1. Lighting lt_;_‘____‘l
houses a renewable
2. Warming | source of
Importance | houses | €Nergy.
3. Cooking
4. Operating
cars
[t causes: Togetit, it
1. Air requires: |
Disadvantages| pollution. | 1. Cutting ml
2.Global | 2.Removalof
1. Petroleum | 1. Wood
2. Natural  |2.Grass
Examples gas 3. Comn
3, Benzene |4, Wood chiP®
4.Coal ,J._ —




	0_compressed
	1
	2

	3



